Moto-All.ru

]

CIIMCOK OETAJIEN OJIF "FRONT SUSPENSION" BRP 5900 FCE

[[WWW.OEM.MOTO-ALL.RU/

TEJL.: +7 (495) 177-12-75

13

OSIIIIG




CIIMCOK JIETAJIE! [IJI "FRONT SUSPENSION" BRP 5900 FCE

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 414803200 CpOK IIOCTaBKHU 0T 25 gHel E(())VL\T”SES[;{INET INF. *CUSHION- 2
2 414803100 CpoK nocTaBKu 0T 25 gHel Sgg:ﬁgﬁ%ﬁg& 2
3 316373 CpOK IIOCTaBKH 0T 25 gHel SEAL 2
4 5245362 CpoK nocTaBku 0T 19 gHel SKILEG 8 GR 2
5 413711500 Cpoxk noctaBku oT 19 gueit (S;?#F?{EE.SYNTHETI*GREASE_ 1
6 5244225 CpoK mocTaBKu 0T 35 gHeH Welded cover 2
7 503145600 CpOK IIOCTaBKH 0T 25 gHeH ENTRETOISE *SPACER 2
8 570025800 CpOK ITOCTaBKH OT 25 gHEH BUTEE *STOPPER 2
9 549493 Cpok 1mocTaBKH 0T 25 fHEeN Bearingplate 2
10 5440399 Cpok noctaBku oT 19 nHei Plate 2
11 549492 Cpoxk noctasku oT 19 gHeit Holder plate 2
12 23018 Cpox mocTaBku 0OT 35 fHEN Shock 2
13 5241330 CpOK IIOCTaBKHU OT 25 gHel SPRING 2
14 5244182 CpoK mocTaBKH OT 25 fHEe’ STEERING ARM 2
15 40031 CpoOK mmocTaBK# OT 35 gHEH Screw M6x25 4
16 33200 Cpok noctaBku oT 19 nHel Elastig flanged nut M6 4
17 5344180 CpOK IIOCTaBKY 0T 25 fHEN SUPPORT ASSY 2
18 40146 CpoK 1oCTaBKu 0T 25 gHel 3{“;‘15[1;5 EEEI\(?:)% g}? DIN 4
19 33008 CpOK IToCcTaBKHU 0T 35 gHeH Lock Nut M4 4
20 20014 CpOK ITOCTaBKH 0T 35 gHEl Spring washer 6
21 40305 CpoK mmocTaBku 0T 35 gHel Allen screw M8x20 6
22 20005 CpoK 1ocTaBKH 0T 25 fHel E%\f ?]EI%E*E:N é’?gg}OPCS 8
23 5341750 CpoK TIoCTaBKH 0T 25 fHEeH RUBBER ABSORBER 2
24 547543 CpOK ITOCTaBKH OT 25 gHEH CONE RUBBER 4
25 40354 Cpok nocTaBku 0T 35 gHel ]S)?I\I}QEQ/{ (I;E%%ég) 2
26 549716 CpOK IIOCTaBKHU OT 25 gHel SKI CUSHION 2
27 572034500 CpoK 1oCTaBKH 0T 25 gHel COUSSINET *CUSHION 4
28 33012 CpoK mocTaBKu 0T 35 gHeH Elastic nut M10 8
29 20012 CpoK 1ocTaBKH 0T 25 fHel ‘ﬁﬁil({l]ifi OAfl,g'SS)DIN 9021-ST 6
30 5245338 CpOK IIOCTaBKH 0T 25 gHel SKI WELD N3 2
31 5344021 CpOK ImoCcTaBK# OT 35 gHEH Carbide ski runner 2
32 5445639 Cpok nocTaBk# 0T 35 fHEH Support plate 2
33 34019 CpoK moCTaBKH 0T 25 fHEe aiEl?)i]ég IPPLE M6 2
34 420899785 CpoK nocTaBku 0T 19 gHel Loctite 221, violet, 10cc 1




